uet us requiwe that when r ‘= a, 3Q/3r = 0. For this it suff;ces_to.
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| [\P(r) 2. +ap 3{; ,‘1,],_. =
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Supplenenting 1t with‘a continuity equation and designating, as 4
belore, ; V = ;
Q m‘o InL .0, 0= “"°, esinr,,
we veoca a system analogous to (7) and, further, we get eouation (9) anad 4
SOiution'(lO)-. :
After.:h:s in the obtailned solution it is necessary to return to tbe
spherica 1 coordinate s;stem,|using formulas (23), and for velocities
entering in 7, (and derivatives of F ), usigg solution (lolinﬁgfmula (24).
In formula (10) we should now replace S.SS dzdydz by_§n§§ r’“5¢a'dld¢
on the right slde of the integrel, Furtner:ﬂ;e have
-;— costpms?.—— s————'"wws;‘ a‘; :;:s"q, 8{; s ’
aj = ——costpsmk +————Slé¢,sm" %f,%‘;% -‘;2,:.
e iy LT :
BB Bt ikttt f
1‘;=(Ix—-xx)’-r(Jx—Jx) + (33— 2)? =1 4 r'* — 2rr' cos Y, 3
1= (2 —z) + (_/1—_/‘)- = r? cos? ¢ — 2rr’ cos ¢ cos (A — 1) + r'3cos*, 3
COS Y = €OS @ COS » cos ¢’ cos A’ + cosqsinAcos @’ sinA’ 4-singsing’. g
Let us now separate from the third integral that integral with re- E
spect to r. for brevity let us examiqe, e.g., only the integral M (the ;
~thers are analogous): 3
Af..SA&IIJ,Q””ﬁ radr. ;
We find that M has.them;orm (2 1s the egrt&'s*radius): ' g'
M =§ W (r) ] (2 3, i) dr = (§ + S) YV (e e =
= S S) ) fo (%, 1, rrYdr. - k
Further,. setting r' = a2/p" in the integral from 2 to 0, ve get E
TR e | :
M =01 () ar + § o () (7 —)l—-=
T _ a- A e B, Eé
S[w)/(ﬁ 7 rr)w( ) (r. ‘t: : f,f.’-),f.%jdr'-j L




